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—1+4[-0.2,0.2] x [<0.1,0.1]
= [~1.02,-0.98]

oo0ooooooo [09,11]=10+0100007/0000 2200
Oar+b0 a=2b=-09955000000000=0.00600000
gbbbuoddz=10+015, 0000

2?2 —2r = (2% (1.0+0.1e;) — 0.995 + 0.005¢5) — 2 x (1.0 + 0.1ey)
= —0.995 + 0.005¢,
— [=1,-0.99]

00 4.3 f(z)=22+2:000 1=1[0,2/00000000000 f(I) =
0,8]0000
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gobobodgo

(0,22 +2x[0,2] = [0,4] +[0,4]

Y

000000000 [0,2]=1400007/0000 22000 az+b
Da=20b=-050000000006=050000000000
r=14+¢ 0000

?+2r = (2x(1+4+¢e)—05+058)+2x (1+¢)
= 3.5+ 4e1 + 0.5e9
- [_178]

0041000002:0:0000000000004200000
2?202:000 /0000000000000000000000000
00000000000000000000000

00430000000000000000000000000000
000000000000000000000000000000000
000000000000000000000000000007 =10,2]
0000 fJ)=[-1,8)0000000000000000000 &6
00000000000000000000000000 (0,8)0 (2,0)
000000000000000000000000000000

0000D000000000000000000000000000
0000000 -000000000000000000000000
00000000000000000000000000000000
0000000000 4.200
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042 000gooooooooobooboogo

4.4 0O0O0OO

gobobbbbuoduoooooobbbobbboodoooood
gobobboobboodooogobbobbboooooooboboo
gobbobobbouoouoooobbbobbouoooooobobob
gboboboooobboooobobod
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5.1 0O0OOO

ob,0000000000000000000 IEEEDO 754000
gboboodobbuogbbog,gbbogobogobbuoobboon
gobbbbbbouooooooobbbbbboodoooooobbon
g, ggoggobboobb,obbobbbuodoooooobboo
gbbbuooobobboooobboboodabobbodad.

0000000000000 000 (00 ,00]000000000
gooobbobbbbbbbbbbotbototouoddoouooooood
gobboobobobobouooooooobbooboboboodoooooobobo
gbbbooodgobbod

5.2 OUOOOOO

00000000000000000000000000000000
OOIEEEODO 754000000000000000000000000
000000000000000000000000000,00000
00000000000000000000000000000000
00000000000000000000000000000000
0000000000000 [a,b(a,b €R)0 [(«00O0000),(b00
0000)0000000000000
0)000 [1/7,1/3]0 C++0

volatile double a=1.,b=7.,c=3.;
down(); 1=a/b;
up(); u=a/c;

0000 (1/7000000)0(1/3000000)00000000
000
[0.14285714285714284921(< 1/7),(1/3 <)0.3333333333333333]
00000000000000000

5.3 UUOUOOOOOOOOOOONO

a,b0000000000O0[e,b0000000 c+re0000O0OO
OO0cO0r-r00000ob0ob0oboboooooond a,b,e,r0ognog
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O000.c*0 (¢+0)/20000000000000000000000
gooobooooooo

up () ;
c=(a+b)/2;
r=c-a;
/\_TL/\
a ctc b
0 5.1: a,b,c,r 000
o0og
up () ;
c=(a+b)/2;
r=c-a;
ad

c=up((at+b)/2);
r=up(c-a);

gboooooggood
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54 UOU0OOOOOOOODOOO

gobobbbbbouooooooobobbbbbbboboduoooad
gbooboogoon

gobooouon z,y0doogg
T =20+ T1Er, Y= Yo+ Y2Er (5.1)
0oo0dddz=xz+y0O
z =z + (|z1] + |y2| + |2+])er (5.2)
gdoooooood

down(); 2o = Xo + Yo;
up();  Zo = Xo + Yo!
zo = (2o + Z0)/2;

Zr = Zo — Zo; (5.3)

00000000 dummyOd0 e 00000000000000000
000@O0000z—y00000 (Jay + || +|2))e)00002200
0000000000022 =w+we; 000000000 dummy O
0 0000000000000:200000000000000000
£, 0000000000000000000000000000000
0ooo

5.4.1 0O0OOOOO

gooo

T =29+ T161 + Tocy + -+ + Tpen + Reey (5.5)
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5.4.2 0O0OOOOOOOOOO

[down(zg — up(Y _ |2l) — Ra)),up(zo +up(Y J2il) + Ra))]  (5.6)

i=1

i=1

5.4.2.1 0O0O0OO
pi down(z; + y;)
godd
Po + Po P1+ D1 DPn + DPn
r+y = up( 5 ) + up( 5 )er + -+ + up( 5 )en
+ up(>_ up( )+ Ry + Ry)e, (5.9)
=0
ad
" down(z; — ;) (5.10)
qi up(z; — ¥i) (5.11)
gogd
9 + G+ q dn t Gn
r—y = wp(=5—)+up(=5—)er+ - +up(=5—)en
2 2 2
+ up(z up( )+ R, + Ry)e, (5.12)
i=0
0o,
2z = min(down(z;a), down(z;@)) (5.13)
Z max(up(z;a), up(x;@)) (5.14)
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gooo

adle = w25 +up(Eg e + o+ wp (2,
" up(;up(z_i;ﬁ) + max(alR,. [aR))e,  (5.15)
54.3 UUUOOOOO
z1; = min(down(z;a),down(x;a)) (5.16)
z1; = max(up(z;a),up(x;a)) (5.17)
21+ z1o b+b
A = wp(=5) () (5.18)
godad
[Qv E]ZE + [Z—)7 l_)] + 36n-&-l = up<down(A)2+ up(A))
211 +Z_11
+ up(—2 )e1
21y + 21,
+ o tup(/ 2 )5n

- Z_lz'_ZLL
+ up() up(——=)
=0

+ max(up(|a|R,),up(|a|R.))

b—1b
+ up(——)
T I _Qdown(’él)))sn+1 (5.19)
000 f(z)0000000
544 0OUOOOOOO
22; = min(down(y;b), down(y;b)) (5.20)
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22; = max(up(y;b), up(yil_?))

z1g + 21 220 + 229 c+c
P = up(= +up(— ) + up( )
2 2 2
21; + 21, 22; +22;
Qi = up( 92 )+up(_2 )

ooond

down(P) + up(P))
2

down(Q1)2+ up(Ql) )51

down(Q,,) + up(Qn)

2
up(P) — down(P))
2

N Z up p(Q;) — down(Ql))
+ Z up(*
+ Z up(*

+ up(

la,alz + [b,bly + [c,d] + depi1 = up(

+ up(

—+ _|_up( )571

+ up(up(

000 f(z,y) 0000000

5.5 UUO0OO

(5.21)

(5.22)

(5.23)

—|—max(up(|a|R ),up(|alR,))

) + max(up(|b| R,), up(|b|R,))

(5.24)

gbboboooobbobuoooobobuoooobooooon
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6.1 U0OOO

gobbbbbouoooooobbbbbbboooooooon
gboboboooobbobooon

dfg):f{x(zﬁ),t), tefab), (6.1)
ooono x(t)D nO0O0000000000000
Qoo dobooooooocooboooooonboogd a=t <
ta<---<t,=00000000000000 x(ti)DDD z; 0000
Odpooooogoogooouooooooooouooogoogoo
Ododooooooooooguooooogoooogoooogooo
gooooobobooo » 0 oy DUOOO0OO0oooobooogg
DDDDDDD(DDDDDDDDDDD)Q}(Q)DDDDDD z; 000
googooooooooogoobooogoobooooogooono :L‘(ts)zv
000000 2(t,) 000000000000 é(v,t,t) 000000
gdoooogooooooouoooogo

Ty = ¢(z1,t1,12)
ry = ¢(z2,12,13)

Ty = gb(l‘m—latm—latm)- (62)

O0000000000000000000 nxmODOOOOOnx(m—1)
gobobobobooubo0000b00DbO0ODLOOOODOOO0bOOn
gbooboooooobooo

000000000 KrawezykO OO 5, 6|0 00000000000
gboboodbboobboobboguobb mnbooobbogb
gbobbooboobooboobobobobbobod

O00000000000000000000000000 ¢(v, ts,te) O
000000000000 0OO0Lohner000 [7]0D0000C0OOOOOO
gbobboooobbbuooobbbuooobobboooobo

6.2 000000 (Power Series Arithmetic)

O000003000000000000000000 (Power Series
Arithmetic, 00 PSAOOO)0O0O00O0O0O
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6.2.1 Type-1 Power Series Arithmetic

Type-l PSA DOO0Oorder-n 0000000000000 O000O0O0O
00000 [ag,ar,as,-+,a,] 00000000000

ag + ait + agt? + - +a,t"  (+O(t")) (6.3)

gooboooon

6.2.1.1 00000

goboboooobobboooooon

[ag, -+, an] £ [bo, -+, by) = [ao £ bo, -+, an £ by (6.4)

6.2.1.2 00O
ooddooooooodooon
[a'()?'”?an] X [bOa"'7bn]:[607"'acn]D (65)

k
C = Zi:O ;b

6.2.1.3 00U

gboboogoboobooooboon
Fllaos - aal) = flao) + 32 57V @) 0sar, -l (67

0000000000000000(6.4),0 (650000000000
00000000000000000000000 (z/y=2 x (1/y))0

Type-l PSAOOOODOODOOOOOOOODOOOOOOOOO (n+1)
00000000000000000000O0DO0O00ODO0oOooOogdle, 8]
ODOOo0boooobodbodlMathematicaOODOOOODOOOO
gbbbooogbbbuoooobbboooon
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6.2.2 Type-1I Power Series Arithmetic

Type-II PSAO Type- 1000 order-n OO0 O0OO0O00OODOODO Type-I1
PSAODODOOOOOOOOODO ¢t0OOO)OO [0,dODOoO0OOOO
ooooogd. [a,---,a,) 000000000

ap + art + ast® + - - + a,t”, (6.8)

000000000000 a,0000000000[a,---,a,] 0 f(t) €
ap+---+a,t"inallt 0000000 [0,d 00000000O00OOOODO
00000000 0Kaucher, Miranker[9, 10D 000000 OO interval
functoid 000 0OOD0OOOOOOOO

6.2.2.1 00000

O000D00O Type-l PSAODODODODO

[ag, -+, an] £ [bo, -+, by] = [ag £ bo, -, an £ by). (6.9)

6.2.2.2 00U
gbboboodgobbooad

[ag, - -, an] X [bo, -+, bn] = [co,- -+, canl, (6.10)
e = zmin(k‘,n) : az‘bk—i-

i=max(0,k—n

00O0000][ag, - -,a, O [bo,---,b,] 00000000000000O
[co, -+, 2] 0000 nOODOO0O

6.2.2.3 00U

A=lag,",a, 000000 n0 n<mOI0000000000OO
000 AODOO nO0O0O0OOO B=|[b,---,b,)] D000ODOO:

bp = an+ > a[0,d" (6.12)
i=n+1



00000 @' 0 et 00000¢ "0 [0,d 00000000
oooooooooboo+oobo0oobooboboooooooooooo o
gbbogdbbooggbbogobobooobbuooobboogbn
gbobodbbodabbogbobdubbuooobboobboodabbo
0000000 (6.12)000000000000

an+ Y at™" |t e 0,d] (6.13)

1=n+1
000000000000 000ob00o00ooooos, 0000o0o0o
OOO0O HornerO OO

by = an + [0, d)(@nsr + [0,d](- - (@1 + am[0,d]) - --) (6.14)
oodooodooodao

6.2.24 00O

gbobobogoobobooan

Flao - aal) = flao) + 30 1O a)0,n ol (615)

N (zn: ai[O,d]i) 0,01, a,]" (6.16)

n!
=0

00000000000000000000 TypelllPSADOOOOOO
00000000 Lagrange 000 0000000000000 O000O0O
000000000 HomerDOOOOO0O00000000 z/y 0 Type-l
PSAODOD zx(1/y) 000000000000000000000
00000 Typell PSAODODOOO

6.3 é(v,t,,t,) 00000

o R"xRxR—-R'O00000000O0O0O00O00OOOOOOOO
gbobobouoogon

= f(z(t),t) (6.17)
z(ts) = v (6.18)
t € [tst] (6.19)



() 00000000000 ¢(a,t,t) 0 2(t.) 000000
00000Picard 000000000 2(#) 000000000000
000000000000000000 (617000000000

ot = v+ /t F(a(s), s)ds (6.20)

gbbboooob obbbooobbbboooobbboooobn
0000 Schawdee OO ODOODOOOOOOODOODOODOO

000000 6.1 ¢ >t,, A=t.—t, 000 Type-Il PSADDODOODO
0,A]0000

Step-1 DO0O0OOODOO X O
[v1]
X = : (6.21)
[Un]

000000000 m=00000
Step-2(000000) Step-2(1)-Step-2(3) 00000000000
Step-2(1) 0000 TO (t,+4) 0 mOO000000000000

[£4] (m =0)
T={ [t 1] (m=1) (6.22)
[t,,1,0,---,0] (m>2)

Step-2(2) X = f(X,T) O Type-I PSA DODOO0D0O0X =v+
ngdtDDDDDDDDDDDDDD XQooodg » OO
m+10000

Step-2(3) m=m+1
Step-3 T = [t;,1,0,---,0] (orderm) 00 00O

Step-4 Y = f(X,T) O Type-Il PSAODDOOY =v+ [;Ydt 000
006.22500000 YOOOO m+100 mO00000O

Step-5
r = max Y™ — X (6.23)

1<i<n

Ooooooooooo Wog¢kooooooo
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Step-6 0 1<i<n00000X™ =X +[-2r,2]0000

Step-7 Y = f(X,T) O Type-Il PSAODDOOY =v+ [;Ydt 000
00622300000 YOOOO m+100 mO00000

Step-8(0000) 000 ;0000 V™ cx™ 0000000Y O
0 (6.17)0000000000 Schauder 00000000000
oooo

Step-9(0 0 0 0) Step-9(1)-Step-9(2)0 Y™ 0OODOOODOO000O0
0000

Step-9(1) X = f(V,T) O Type-Il PSAODDODOX = v+ [, Xdt
D00006.22300000 XO0O0OO m+100 mOO
0ooo

Step-9(2) 000 i 0000 Y\ =y nx™ oooo
Step-10 ¢(v,ts, t.) O

DI AR

P(v,ts,te) =Y (A) = (6.24)

S Ya A
ooooon

00O0Step800000 0<k<m-10YV»=x"ooooooo
0000000000000000000000

6.4 OO0

gobbobobbouooooooobobbobbboooooooon
gooo
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7.1 0000

gobbbbbuouooooobbbbbbooooooooobbo
Obobobo0booobuooboobobboobg JacobiOonooono
gbbboooobbbuoodobbbooodn

7.2 ¢,(v,t,,t,)00000

000000000000000000000¢(c,t,,t)000 ¢(v,t,,t.)
00000000 JacobiO O ¢y(v,ts,t.)00000004¢,(v,tst.) 00
000000000000000

O .y (1)

—= = fa(z(t), t)y(t) (7.
z(ts) = v (7.
(7.
(7.

y(ts) = I (n x n identity matrix)
t €t t.]

0000000000000000000 600000000 6.100
000 ¢,(v,ts,t) 0 y(t.) 0000000000
000000000000000000 R 000000000000
000000 +00000000000000000 60000000
06100000000000000000 y@#) 0 (4,5) 000 “x(t)
0v00;00000000700000000
0000000000000000000600000000 6.10
0000¢(ctst) 0 clt,) 0000000000

73 z, 00000

r, UO0O0000oboobooaobn

Ty = v (7.6)

{ mid(zo) (n = 0)

o mid(§(ca 1, b1, ) (n > 1)
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- { rg—co (n=0) (7.8)

¢(Cn—1) tn—la tn) - mid(ﬁb(Cn—l, tn—h tn)) (TL Z 1)

ooo0on
r1 = ¢(co,to, t1) + du(xo, to, t1)(x0 — Co) (7.9)
= ¢+ 71+ ¢u(o, o, t1)70 (7.10)
Ty = ¢(c1,ty,ta) + du(x, ty, ta) (1 — 1) (7.11)
= Cy+ 1o+ Gy, by, ta) 11 + (1, t1, t2) Do (o, Lo, 1) 70 (7-12)
0 0D0D00O0O0: (7.13)

bbbz, 0000000000000

n—1 n—1
Ty = Cn+z ((H gbv(xj,tjatj—l-l)) X Ti) (714)
i=0 j=i

74 0O4OO0O0

gobobobobbuodgoogooobobbbodooooooboo
goo
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8.1 0UOONO

gobobbbbobobouooooooobbbboouoooooobn
gobobooodaoboood

8.2 (v,t,t,) 00000

goobbobbodooooooooobboobbobobodoooood
O0ef()0000000000O0OOmR()0000C0ODODOO0OOOOOOO
O0ef()00000000000O00O0OOODOOOOOOOODOOOO
gobobodgo

000000 81 ¢ >t,, A=t,—t, 000 Type-Il PSAODDODDO
0,A] 0000

Step-1 DODOOOOOO X O

af([v1])
g | e o
af([vn])
Oodooooooo n=00000
Step-2(00000O0O) Step-2(1)-Step-2(3) 00000000000

Step-2(1) O OO0 TO (t,+t) 0 mOOOODODOODODOOOOO

af([ts]) (m =0)
T =9 af([ts1]) (m=1) (8.2)
af([ts,1,0,---,0]) (m > 2)

Step-2(2) X = f(X,T) O Type-I PSADDDOOOX = v+
[fXd0DODDO0OODDO0ODO0O0O00 X 0000 m OO0
m+10000

Step-2(3) m=m+1

Step-3 T'=af([ts,1,0,---,0]) (order m) 0000

49



Step-4 Y = f(X,T) O Type-Il PSAODDOOY =v+ [jYdt OO0
00622300000 YOOOO m+100 mOO0000O

Step-5
r = max |in(Y;™ — xX™) (8.3)

1<i<n ’

ooooooooooo Wog¢kooooooo

Step-6 01 <i<n00000X™ = af(in(X™)+ [-2r,2r]) 00
0000000000000000000000000 83000
0ooo

Step-7 Y = f(X,T) O Type-Il PSAODDOOY =v+ [;Ydt 000
00622300000 YOOOO m+100 mOO0000O

Step-8(0000) OO0 0000 in(Y,"™)cX™ O0000000OY
00 (6170000000000 Schauder 0000000000
0ooon

Step-9 ¢(v,ts, t.) O

S A
$(v,ts,t.) = Y(A) = : (8.4)

Doy Y A
goououo

00O0Step-800000 0<k<m-10YV»=x"ooooooo
0000000000000000000000

83 UUuutubotubood

0000000000000000000000000000000
0000000000000 ,000000000000000000
0000000000000
000»=2000000000000 X = (zo,2,) 0 X' = (z},2))
00000 X cXx000810000000000000000000
00000000
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081 XO0XO0Ooood

Q

gbbogbogobboooboooboooboobooboooboo
gbobodz U 0000000000000 OO0O0O0O0O0O0O0O00
gobbobbbuodoooooobbbbbbouooooobbobo
gooo

Tog = Qg+ @11 + A9€2 (85)

ry = b0+b151+b252
gogd

Ty = Qo + (|CL1| + |6L2|)53 (87)
bo + (|b1] + [b2])es

X1

gboogboobboobboogobbobogboogboooboon
gobbobbbouooooobobbbbbbbouooooooobbbb
gbooboogs2000b000onbooo

0 82 XOOO
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gbobbuogobbuoodgbboss3sbuuobobuooobbuoogn
gobooooooobobbobobobbbbotbodoooooooboooo
oboobooXxXooooboboboboboboboobobobbobbo
0000000000 b0A<L1IDO0bDO0ObDA=0000D00D0ODO
gbobobooogobood

0 83: XUOO

Q

8.4 ¢(v,t,,t,) 000

000000 ¢(v,ts,te) 0000000000000 OOOOOOOO
gboboobobboboobgooboboboobooboboboobg
gobboobobobouooooooobbobbodooooooboboon
gboobouooooboobobobdnbbobooooooboobon
gobboobobobouoooooobobbobbouoooooboboobn
oboobod
O000C0OO0O0O0OC0OO0OO0oO0OOoOOoOoOoOOoOoOoOd o(vts,te)DODODOO
gooobbbobbbbn0dooooooobobbbbbbbnbO
gboboboooobbbuooobbbuooobobboooobo

X, = { %o (8.9)
boo
Xl - ¢(X0, to, t1> (810)
a1p + a11€1 + Q1262 + A13€3
X, = 8.11
! { bio + b11g1 + bioea + bises ( )
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obooobobox,0o00boobooobgon

X, — ayo + (Jarr] + |aiz| + |as])er
. =
bio + (|b11] + |b12| + |b13])e2

gobobooogoboood

X2 - ¢(X1)t17t2)

X, — 20 + A21€1 + A22€2 + A23E3 + A24€4 + A25E5
, =
bao + 2161 + bazga + bazes + baaey + bases

obobobobDoDX,000bo0booobon

X, — ago + G161 + agees + (|ags| + |ags| + |ags|)es
, =
bao + bar€1 + bagea + (|baz| + [baa| + |b2s|)es

23
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9.1 UOQOOO

gobbbbbuoooooobobbbbbbodooooooobbo
gboogobdaboboy2ugibbudbooobuogboboobogn
oboobo93b0o0booboobonoboboon

9.2 LULOUOO
0000930000000000000000000

Oogd A
cedbobobobobobobobooooboooooobobob

o0 B
rbbgbooobobooboboobooboobobuoobobon
goo

ooogof
sudboboodbobboooobbuooobbbuoobbooooboon
gooo

gooooogno
e OS: Windows Vista
e CPU: Intel Core2Duo 2.4GHz
e JO0O: 2GB
e 0000O: VisualC++20050 Boost 1.34

gooon

9.3 OO0

OO000b0obo0o0ob0OobD AbOobD BOOoODooobooooogo

o0 1
00000000 o0oooooooooooogo
Az
z(ty) = 0 (9.2)
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dx

) = 1 (9.3)

ty = 0 (9.4)

gboboboooobbbuoooobbboooon

dﬂ?o

dl’l

E = —Xp (9 6)

zo(ts) = 0 (9.7)

x1(ts) = (9.8)
ty = 0 (9.9)

O00000000000000O0x(t)0 sin(t))D000A=025000
gobobboooodgob bylbuouoodoob 92000000
gbl1oggboogoboogobbuoooboob —hoogobooobo
roUDDODODOOOODODOOOO0ObDObOO0oOo0bbDY100n0n

go 2

o O OO

goobb3ddddoooooooob4b0d0dooooood
gbbbooogbbboobbbdoodb meUmUOm OO DODOOOMO
O0O0000O0 kDEOKRLDEDODDOOODO0ODLOOObOOOO0bDoOn
b0 xUxn Uz, 0000000000000000O000O0O0DOO0O0
goo

IO~ famy— (ko + ) (9.10)
Mo a2 12 0 1)o .
d2$2
M = ko + ket — (k1 + k2)2 (9.11)
d*z
2 dt24 = kawy — (ko + k3)xy (9.12)
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gbobobuoooobbbooogbbbuooobobbbooobbboo

dzo

dt

mp L
O dt
dts

dt

my 228
bt
dt
dt
d.T5
mo——

dt
Z)’)()(tS)
1 (ts)
ls

Ty
klxg — (k‘() + kl)ﬂfo

Zs3

kll‘o + k2$4 — (kl + kg)ﬂ?

Ts

kgl'g — (kz + k3)$4

Jfg(ts) 0 =0 .174(t8) 0 =
C(Ig(ts) 0 =0 $5(t5) 0=00

0

(9.13)
(9.14)
(9.15)

(9.16)

ko=ki=ky=ks=20mg=m; =me,=150A=020000000
goooooodanD 09309400 9500000000 9600000
obooloobgoobooobooboobooboob -bobbooo
Ob0zeUDOOODODOODOOODOOODOOODOODOO9Y20000
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gbudibbzD0O0ODOOLOOO0O0ODOODDOO0ODbOO0ObOO0 930
HEN

091: 2020000 (00 1)

alals oo A oo B gogd

i) I X0 T Zo T
11]2.78e-17 | 1.11e-16 | 2.78e-17 | 1.11e-16 | 2.78e-17 | 1.11e-16
50 | 8.73e-11 | 8.73e-11 | 5.61e-15 | 1.25e-14 | 4.87e-15 | 6.33e-15
100 | 2.34e-05 | 2.34e-05 | 1.23e-14 | 2.54e-14 | 9.69e-15 | 1.25e-14
150 - - 1.86e-14 | 3.75e-14 | 1.47e-14 | 1.88e-14
200 - - 1.10e-13 | 1.30e-13 | 1.99e-14 | 2.52e-14
250 - - 1.49e-09 | 1.49e-09 | 2.57e-14 | 3.19e-14
300 - - 2.67e-05 | 2.67e-05 | 3.16e-14 | 3.79e-14
350 - - 4.77e-01 | 4.77e-01 | 3.67e-14 | 4.34e-14
400 - - - - 4.27e-14 | 4.90e-14
450 - - - - 4.90e-14 | 5.38e-14
500 - - - - 5.56e-14 | 5.85e-14
550 - - - - 6.21e-14 | 6.21e-14
600 - - - - 6.81e-14 | 6.58e-14
650 - - - - 7.52e-14 | 7.01le-14
700 - - - - 8.25e-14 | 7.34e-14
750 - - - - 9.00e-14 | 7.72e-14
800 - - - - 9.74e-14 | 8.05e-14
850 - - - - 1.06e-13 | 8.51e-14
900 - - - - 1.14e-13 | 8.87e-14
950 - - - - 1.21e-13 | 9.30e-14
1000 - - - - 1.29e-13 | 9.76e-14
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1e-006

1le-007

1e-008

1e-009

1le-010

le-011

le-012

1le-013

le-014

1e-015 L

0920000 (00 1)

OO0 |ODA|O0O0B|0OQCOO
1 0.000 | 0.001 0.001

50 | 0.005 | 0.043 0.059

100 | 0.011 | 0.081 0.147

091: 000000 (00 1)

T
Affine
MeanValue
Interval

29




093: 20,0000 (00 2)

000 Oo0 A ob B googd

i) I i) T ) 1
1] 1.11e-16 | 1.11e-16 | 1.11e-16 | 1.11e-16 | 1.11e-16 | 5.55e-17
50 | 3.62e-05 | 7.72e-05 | 9.42e-15 | 1.67e-14 | 9.78e-15 | 1.44e-14
100 - - 1.66e-13 | 2.58e-13 | 2.36e-14 | 3.18e-14
150 - - 7.37e-05 | 1.25e-04 | 2.92e-14 | 4.36e-14
200 - - - - 4.65e-14 | 6.37e-14
250 - - - - 4.95e-14 | 7.50e-14
300 - - - - 6.96e-14 | 9.62e-14
350 - - - - 6.96e-14 | 1.04e-13
400 - - - - 9.00e-14 | 1.25e-13
450 - - - - 8.97e-14 | 1.32e-13
500 - - - - 1.12e-13 | 1.56e-13
550 - - - - 1.12e-13 | 1.62e-13
600 - - - - 1.34e-13 | 1.88e-13
650 - - - - 1.34e-13 | 1.94e-13
700 - - - - 1.54e-13 | 2.17e-13
750 - - - - 1.59e-13 | 2.27e-13
800 - - - - 1.73e-13 | 2.49e-13
850 - - - - 1.84e-13 | 2.58e-13
900 - - - - 1.92e-13 | 2.79e-13
950 - - - - 2.08e-13 | 2.91e-13
1000 - - - - 2.09e-13 | 3.08e-13

60




0 94: 2,0 20000 (00 2)

000 oo A 0o B oooo

P x3 €2 z3 Z2 3
1] 1.11e-16 | 5.20e-18 | 1.11e-16 | 5.20e-18 | 1.11e-16 | 8.67e-18
50 | 5.11e-05 | 1.09e-04 | 1.11e-14 | 2.93e-14 | 1.14e-14 | 1.93e-14
100 - - 1.91e-13 | 2.83e-13 | 2.30e-14 | 3.07e-14
150 - - 8.75e-05 | 1.38e-04 | 3.49e-14 | 5.57e-14
200 - - - - 4.67e-14 | 6.13e-14
250 - - - - 6.05e-14 | 9.30e-14
300 - - - - 7.0le-14 | 9.42e-14
350 - - - - 8.42e-14 | 1.28e-13
400 - - - - 9.29e-14 | 1.24e-13
450 - - - - 1.08e-13 | 1.61e-13
500 - - - - 1.16e-13 | 1.57e-13
550 - - - - 1.33e-13 | 1.95e-13
600 - - - - 1.41e-13 | 1.92e-13
650 - - - - 1.58e-13 | 2.27e-13
700 - - - - 1.64e-13 | 2.28e-13
750 - - - - 1.83e-13 | 2.59¢e-13
800 - - - - 1.88e-13 | 2.69e-13
850 - - - - 2.07e-13 | 2.88e-13
900 - - - - 2.11e-13 | 3.10e-13
950 - - - - 2.31e-13 | 3.15e-13
1000 - - - - 2.35e-13 | 3.50e-13
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095 2,0 20000 (00 2)

000 oo A oo B gogd
T4 Is T4 Is T4 Ts
1] 1.11e-16 | 1.11e-16 | 1.11e-16 | 1.11e-16 | 1.11e-16 | 5.55e-17
50 | 3.62e-05 | 7.72e-05 | 9.42e-15 | 1.67e-14 | 9.75e-15 | 1.45e-14
100 - - 1.24e-13 | 2.00e-13 | 2.36e-14 | 3.18e-14
150 - - 5.02e-05 | 9.35e-05 | 2.93e-14 | 4.37e-14
200 - - - - 4.63e-14 | 6.37e-14
250 - - - - 4.97e-14 | 7.51e-14
300 - - - - 6.96e-14 | 9.61e-14
350 - - - - 6.98e-14 | 1.04e-13
400 - - - - 8.98e-14 | 1.25e-13
450 - - - - 8.99e-14 | 1.32e-13
500 - - - - 1.12e-13 | 1.57e-13
550 - - - - 1.12e-13 | 1.62e-13
600 - - - - 1.34e-13 | 1.88e-13
650 - - - - 1.35e-13 | 1.94e-13
700 - - - - 1.54e-13 | 2.18e-13
750 - - - - 1.59e-13 | 2.27e-13
800 - - - - 1.73e-13 | 2.50e-13
850 - - - - 1.84e-13 | 2.58e-13
900 - - - - 1.92e-13 | 2.79e-13
950 - - - - 2.08e-13 | 2.91e-13
1000 - - - - 2.09e-13 | 3.08e-13
0960000002

OO0 |ODDA|O0O0B|0OQCOO

1| 0.000 | 0.004 0.016

50 | 0.021 | 0.251 1.573
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0 9.7 200 20000 (0O 3)

000 Oo0 A ob B googd

i) I i) T ) 1
1] 2.22e-16 | 1.11e-16 | 2.22e-16 | 1.11e-16 | 2.22e-16 | 1.11e-16
50 | 3.27e-10 | 8.73e-11 | 2.33e-14 | 1.40e-14 | 1.83e-14 | 6.33e-15
100 | 8.67e-05 | 2.34e-05 | 4.56e-14 | 2.89e-14 | 3.52e-14 | 1.37e-14
150 - - 6.54e-14 | 4.25e-14 | 5.07e-14 | 2.01e-14
200 - - 6.66e-03 | 1.72e-13 | 6.21e-14 | 2.63e-14
250 - - - - 7.32e-14 | 3.25e-14
300 - - - - 8.27e-14 | 3.90e-14
350 - - - - 9.11e-14 | 4.45e-14
400 - - - - 9.85e-14 | 5.01e-14
450 - - - - 1.05e-13 | 5.47e-14
500 - - - - 1.11e-13 | 5.94e-14
550 - - - - 1.15e-13 | 6.36e-14
600 - - - - 1.19e-13 | 6.83e-14
650 - - - - 1.23e-13 | 7.25e-14
700 - - - - 1.27e-13 | 7.72e-14
750 - - - - 1.31e-13 | 8.14e-14
800 - - - - 1.36e-13 | 8.52e-14
850 - - - - 1.40e-13 | 8.93e-14
900 - - - - 1.45e-13 | 9.31e-14
950 - - - - 1.50e-13 | 9.70e-14
1000 - - - - 1.55e-13 | 1.02e-13
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098 2,0000 (00 3)

000 oo A O0B |0000
T2 L2 T2
1| 2.78e-17 | 2.78e-17 | 2.78e-17
50 | 8.73e-11 | 5.91e-15 | 4.70e-15
100 | 2.34e-05 | 1.33e-14 | 9.96e-15
150 - 2.02e-14 | 1.51e-14
200 - 1.46e-13 | 2.00e-14
250 - - 2.53e-14
300 - - 3.07e-14
350 - - 3.65e-14
400 - - 4.27e-14
450 - - 4.87e-14
500 - - 5.50e-14
550 - - 6.07e-14
600 - - 6.67e-14
650 - - 7.43e-14
700 - - 8.18e-14
750 - - 8.94e-14
800 - - 9.74e-14
850 - - 1.06e-13
900 - - 1.14e-13
950 - - 1.22e-13
1000 - - 1.30e-13
0990000 (00O 3)
OO0 |O0A|O0O0B|O00OOO
1 0.000 | 0.096 0.037
50 | 0.017 | 4.735 2.592
100 | 0.033 | 9.361 5.469
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gb,bdgggboboogooobogoobobbog,bboogon
gbobbooogbbbuoooobbboooobbboooobn.

gb,gbboobbobbuoobobobooobooobooboon
gbobobuoogobbboogboboogobobuooon.

gb,bgggbbobodgoobobogoobobbuoodob,ooon
gobbobbuoooodobb bbb oooob bbouoooobobo
a.

gob,gggbobogoobbouogbbbuooooobooo,un
gbobbooodgbbbuooogbbboooobbboooobn.
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